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Tema ypoka:

IloBTOpEHHE K
cCUCTEMATH3ALUA
y4e0HOro MmarepuaJjia




-—e——mMmScHl ..., .. eI LI _L_LPLL’s_L_—’L__ —La L e, e
2. log,(bc)= log,b+log,c

b
loga(Z) = log,b—log,c
log,b" = rlog,b

3. aloga b p— b
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4.log, 4; log;27; 1g10; In1,

1
log 5: log. ——
51 087343

5. log, 4 + log, x* = log, 8
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y=log,x, a>0a+1

1) D(f) =R,
2)E(f) =R

3) He orpaHUYeHa

T
4)y =loggx: yoo |
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y=log,x>0npux>1

5 a>1:
)a y=log,x <Onpul<x<1

y=log,x<O0npux>1

0<a<l:
. y=log,x >0npul0<x<1

6) log,x; =log,x,,a>0,a+1,x,x,>0
=>x1 =x2
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Neol. Beruncaure: a)logi,c 5 — logﬁ% + log, 50,4 ;

6) 9logs 6-15.  g)logilog, 64;
6

Ne2. Pemmre ypaBHeHue: a) log, V4x — 3 = 1;
6) log(1-x) 25 = 2;

B) logg(x+4) +logg(x—1) =1
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Ne3. Pemure HepaBeHCTBO:

a) log,(x* —x—2) < 1;
6) logsx < 1.

Ne4. Pemnre cucteMy ypaBHEHUM:

’10g3 x—2log,y=1,

x+3y° =54.



-—e——mMmScHl ..., .. eI LI _L_LPLL’s_L_—’L__ —La L e, e

JOMAHIHEE 3AJIAHUE:
AKacc




